
Rýsuj podle postupu konstrukce: 

1. AB, IABI = 6cm                                                                       

2. k, k (A, 7cm) 

3. l, l (B, 4cm) 

4. C, C ∈k ∩ l 

5. r, r ∥a, C ∈r 

6. s, s ∥b, A ∈s 

7. D, D ∈r ∩ s 

8. rovnoběžník ABCD 

 

1. AB, IABI = 7 cm 

2. k, k (A, 4 cm) 

3.∢BAX, I∢BAXI = 70° 

4. l, l (D, 7 cm)  

5. m, m (B, 4 cm) 

6. D, D ∈l ∩ m 

7. rovnoběžník ABCD 

 

1. OR, IORI = 4cm 

2. S, S ∈OR, IOSI = ISRI 

3. r, r ⊥0R, S ∈r  

4. k, k (S, 2,5 cm) 

5. PT, (P, T) ⊂(k ⋂r) 

6. kosočtverec OPRT 

 

 

1. AB, IABI = 4 cm 

2. r, r ∥AB (vzdálenost od AB je 3 cm)  

3.∢ABX, l∢ABX I = 115° 

4. C, C ∈b ∩ → BX 

5. k, k (C, 4 cm) 

6. D, D ∈k ∩ r 

7. rovnoběžník ABCD 


